ALIKE

( iR D {1k / HOT-WIRE TYPE THREAD TRIMMER )

AMS-210DHL-6350/AL6
l

HURSHEAE / I~—YU X b
INSTRUCTION MANUAL / PARTS LIST

FEURSHEAERE. AMS210DHL6350SZALE ICDWTORARTT .

HHIICEHRD AMS-2 10DHL-6300 KU AMS-210D OBUREHIERD [ZLICOLTD

STREE| EFH. +HERO L TIEAL EE,

$1e. RO FRICHBERELTNETOT. FIREICOWTERL &L,

D F0MBEIE, KEHL 150 F T OTAWERS <. 4D B IR EEEH CESHENT
A SEER | <raun

| - 1-=/SN | g aipBIcENRELET. SHICE BB AR S AR EER I NBBEE. ZOE
EIRDIEEIC 5 T 2,

| ® BBIMRICRBBLE S NABS . B2 FEIIMHIRIRE N, IS T % THIRE ML)

| £ TVET. DED. MIDFTERNT ECKDET.

8. REHURKIZ TSR OFF CRELTHDET,

CAUTION : |
This Instruction Manual is the Instruction Manual for AMS-210DHL6350/AL6.
Read “Safety Instructions” described in the Instruction Manuals for AMS-210DHL-6300 and
AMS-210D packed together with this machine and fully understand them before using your
AMS-210DHL6350/ALS6.
' In addition, be careful of the following items since since hot wires are used for thread trimming.
@ Never allow your hands to come near the thread trimming place since the hot wires become
A very hot when they are heated.
@ Smoke occurs at the time of thread trimming. Be careful that you do not breathe in the smoke
when using thread which occurs harmful smoke for the human body.
(® When the sewing machine is temporarily stopped during hot-wire heating, immediately heating
is interrupted for safety and heating is not performed until the sewing has been completed.
After all, thread trimming is not performed.
In addition, thread breakage detector has been factory-set to OFF at the time of delivery.
|
|

No.1301-00
29347804




L BB B e s 1
T R s ———————————— s 1
2. B s et p s 3
L. fRSTHIEE ..o sn s s ss s s s snas s s assss s s 5
1. EREIDGIBIIEE ..ottt s s s 5
2. THRIEDHUBDTEE ...t 6
3. EREBEDHUBDIREE ... sss s 7
4, RENDHA RDFEE ...t sssses s sese s sssssssessessssssesssess 8
5. AU D BEBIEIED ........ocoueeceererseressss s seesssssssss s ssssss s ssesssssasesssses s ssssesssssssneses 9
5-1. fERFT— I AFIE (0071, O02) ..ccerrrrrrrrrrcereesereressrsssssssssssssssssesesesesesesenens 11
5-2. ST — I ATIFIE (010, O20) cecerrrrrererenisessssssssessssesesssesssesesssnes 12
T e L s T 7 I 15
A 01T 2 N = N P 16
I, TOY T e ssese e e ssessssssssssssssssssssssssessassassassssassssssans 20
V. T7—BE0BE ...cccceeereeerrercrereeseessssesnssssssessssssesssssssssssessnss sessssssssssssssssns 21
A L CRIAT I 3 N, eeeeeeeeeeeeeeneemmeee et eeessesseee 22
CONTENTS
I.OUTLINE ...t ssnassesseessssss s s s s s assasnsaassasssssnanenssnnsannnnnans 1
1. FEATUIES ...coeeeciciicmiiiiiscniinisssanerirsssnns s s ssenasssesasanssesinsnsninssnnsssesssantssnssnnnsesssnnnsunens 2
2. Specifications .......c.ccccemirceinimmmie i e 4
II. MAINTENANCE AND ADJUSTMENT ............ccoovsnimmmemmmnnnnmnnnisssnssneees 5
1. Adjusting the needle thread trimmer position.......cccuuererimcrercnrcrscsincnan 5
2. Adjusting the bobbin thread feeding amount.........c.civininciinccsnnins 6
3. Adjusting the needle thread feeding amount ..........c.cconciinscnsicnnnseiisaenns 7
4. Adjusting the thread trimmer guide ..o, 8
5. Thread trimming drive control .........cccciiirerinceinnce e 10
5-1. Sewing data input procedures (001, 002) ..........cccvvermrmirmesmcsciiiscssnncasnnans - 13
5-2. Sewing data input procedures (010, 020) .........cccovvermimnsnnsmsnnecssscsncnnaea 14
B. EFTOr ... ieemiritetresessesnsentninessasssasaasatsenenasassassssassenasssnsnsstsnssassnsnnnnnnsasenesassnnsnnsnnes 15
7. OUNEr HrOUDIES ....oceeeuereenaseessssnensereensssesesssese e esssssssssssssasss s Rs bR 18
II. BLOCK DIAGRAM.........ccoccitmmnenmeeeenecneminininnssnsssssamssanssasnssssanssnasssssses 20
V. AIR PIPING DIAGRAM .........cccorcriiinssennnnninssssnsssenesssessnsssnnassnnsssnnnss 21

V. PARTS LIST ... cciimmmrirnnissneesinesissnssnininssssssssssssssseniisssssssssansssssssss 22




(1.8 =/ OUTLINE | )

KiK. X574 FRFLEARD AMS-210DHL-6300 [CE#RE —5F —XDRUDRBZRE LS
EIFEOTVET,

This sewing machine is a sewing machine provided with the hot-wire type thread trimmer to the slide thread
take-up type AMS-210DHL-6300.

@® BRc—F—FKRICKD. XEFTLAESICYMTIBEETTY,
@ AYORKEAMERARBEFICRH U TERRETRETI,

(BROIFABIEIE. ABMENHERERECTREGEPTCE. BRETERLSOMBADEIEE,)
@ RZEBNULTYMT DI ELICKD. RIEDNBILEHROFONE T,

@ FREODDENR. BUVIBODRDRDNME LS TEFE T,
(EROBHEICK OB SROMRITE A, BOIBHDEHARZED DL TEHET )

® BOIDDDARZDED A ATNARYID [T 1/2 IFEDMELE > TVERT,
FFARDBUEBETENFTETTY.)

® BLDARYIOERENS A S I ZENBARNICTERETRE T .
(REMLERA - TARUD—-EREDOHUL—ERYID) J:"Fﬁ%‘éé DIFE
(EREERI [ - EREDH U~ ERYID-TRUID) | FROBFARERER.
(EEEREHD - ERED U~ ETFERAREID) CEREER | KOARVIDEEDE
(EEEREAIT - FAREID—EAREDEL) L RO

@ BRAA RICKDEREMANDBD UBDBLETEE T,
(i EEEBREDERERRIT DI EICKD. B BRNEMCHMNDDERIFET.)

® TERODAXARARYOFREDFRATIEE.
(REIREN OFET AN —— A ZDEIBRIRTEX T )

@ AREESEDUEEDN 1/2 [TNBUEENIER. BEERICBIFBDEEUDBE LELTVET,




(® By adopting the hot-wire heater, thick thread can be easily cut.

@ Thread trimming time can be optionally set in accordance with the thread count.

(Start of heating the hot-wire can be performed during sewing or after completion of sewing by optional
external output setting.)

@ Thread is cut by fusing, and it is effective to prevent thread from fraying.

@ Bird’s nest at the start of sewing can be reduced since the needle thread remaining on the needle is shorter.
(Needle thread remaining at the start of sewing can be reduced since thread is hard to come out from the
needle eyelet because of the needle thread resulted in a ball by fusing.)

® The amount of thread remaining on the needle at the end of sewing is reduced by less than 1/2 as compared
with our moving knife type thread trimmer.
(The after-treatment process of remaining thread is not necessary.)

® Respective thread trimming drive timings can be optionally set by the external input/output.
(Standard setting example * Bobbin thread trimming — needle thread feeding — needle thread trimming)
: Amount of remaining needle/bobbin threads is small.
(Optional setting example I « Needle thread feeding — needle thread trimming — bobbin thread trimming)
: Amount of remaining bobbin thread only is secured.
(Optional setting example I » Needle thread feeding — simultaneous thread trimming of needle/bobbin
threads)
: Thread trimming time to cut thread is shorter than that of the optional setting example |.
(Optional setting example Il « Bobbin thread trimming — needle thread feeding)
: Bobbin thread only is cut.

@ The hot-wire guide can prevent sewing material from being fused.
(The direct contact of the hot-wire with the material can be avoided by securing the interval between upper
surface of material and the hot-wire.)

Both the conventional moving knife type thread trimmer and this one can be used.
(The standard throat plate asm. and standard wiper set can be replaced.)

® Working property in sewing operation is improved since the whole hot-wire device is miniaturized by
approximately 1/2 as compared with the conventional one.




® REY - REVT—X ¢ AMS210DHLB300 MRS A RRUAMFEEEE. 1.85F

@%WDbD L ETIRIIEREN, (FR YA SV URER)

@ BEAR D RK#1 (2250 FZ-ILLIRD LR AR)

@ @& A &t . DPx17 #261F%# (#22 ~ 26, Nm 140~ 230)
® 773y O B=RBFHE (D4012D10NAH)

O Z—hkILI—5— (B4720221DA0) [MHICEBHMAEIHNNE, VSR]
O ¢ 3.5 #HTNHA K (D4002D 10NOK)
OHH 3x44 (D4021D10P0OP)
OXBE 945 (D4002D 10NOH)
O XARATEIR (D4018D10POPA) [ZIEN B]
® g =
RUIDEE | 8% 1.5 sec (FEERE) [M—EXT 1 RXZ 001 : RO O SHATINZARIA]
IRERTARR (ZIEDA) ERE. $MNARERK 2.5 sec LINEST]
[KARATEIR (ZIED B) EARKIE. fEMARBEX 3.0 sec INELST]

@Om B

RIEFEORE L£=1mmIT GRUIDHA ROBBEICKDEEILET )

T=2mMmUT (BEFMOBIPESICIDEEILET,)

T2 M

BISERENLICIERM N U, REH/I\— (I,

BIRERDZMBIERRIED A, BEAER. (ETVU I —DZEKEF. 0.25~0.28 MPa)
® % 8

HARRITHBERT. BOEAZENET D ERBOH USRI V5 —%KiHE,

TAROEEICHERIEKBDIRARSEZHEORES USRI FRIED H U,
I7—HEE

3.6 N £ /min

X A T73avD—RNILo—S—ERDBEEF. /ULT2EEE 65N 2 /min

[T wH—IE 750W (1 ) UL EDBDZEERTIL.]




(D Bobbin * bobbin case : Equivalent to the slide thread take-up type AMS-210DHL-6300 for 1.8-fold capacity

hook
@ Thread trimmer . Up/down independent drive type (optional timing seeting type)
@ Applicable thread : Max. #1 (chemical fiber system thread within 2250 denier)
@ Applicable needle : DPx17 #26 (standard) (#22 to 26, Nm140 to 230)
® Optional O Thread tension No. 3 asm. (D4012D10NAH)
O Needle cooler (B4720221DA0) [Solenoid valve, etc. required.
See V ]
O @ 3.5 needle hole guide (D4002D10NOK)
O Oval needle hole guide 3 x 4.4 (D4021D10POP)
QO #* Standard ¢ 4.5 (D4002D10NOH)

O Lower hot-wire for thick thread (D4018D10POPA) [Engraved mark B]

® Efficiency
Thread trimming time : Standard 1.5 sec (optional setting) [Service disk 001 : starting heating 9 stitches
before thread trimming]
[When the lower hot-wire for standard (engraved mark A) is used, total heating time within max. 2.5 sec
should be strictly obeyed.] '
[When the lower hot-wire for thick thread (engraved mark B) is used, total heating time within 3.0 sec
should be strictly obeyed.]

@ Quality
Length of remaining thread : Needle thread = less than 1 mm
(It varies in accordance with the adjustment value of thread trimmer guide.)
Bobbin thread = less than 2 mm
(It varies in accordance with hardness or thickness of sewing materials.)

Safety
Periphery of the hot-wire is provided with insulating materials and protecting cover.
Air regulating valve is provided to protect hot-wire sections from destruction by contact.
(Air pressure to up/down cylinder : 0.25 to 0.28 MPa)

® Functions }
Needle thread feeding amount adjustable type cylinder is provided in order to prevent needle thread from
slip-off and to reduce bird’d nest.
Adjustable type bobbin thread feeder capable of adjusting the amount of remaining thread required at a
minimum of amount to knot bobbin thread is provided.

Air consumption
3.6 N £ /min
* When the optional needle cooler is used : 65 N £ /min when valve is fully opened.
[Use a compresser of 750W (one horse power) or more.]




(11 ﬁ%ﬁlﬁ / MAINTENANCE AND ADJUSTMENT )

(ﬁﬁzﬁMG)E*l«_&:ZE*nﬂﬁbi?o)

(Adjust the height in accordance with the thickness of material to be sewn.)

' /- - IUE l WRIBTIT > TLIEELY,

= XL | FROEBICKIERE<H. BERY. I7—HISED. BENY IV ERA THEN

WARNING :

abrupt start of the sewing machine.

when depressing the starting pedal before starting the work so as to prevent accidents caused by

~

)
|

/!\
C\- Turn OFF the power, cut the air supply, and ascertain that the sewing machine does not run even
-

_ Y,
- N
A
/\ = I;i
N NN Y,
— ~N
\ Y,

% FEEFIC., R EVS AN LTLIEEL,

1) I7—%&KREF,
(LF2U5—EZ0ICLEFET,)

2) EHRUOZEDHFT,

3) BEDEHAUOZ 2 EFTHROFET .

4) RO EHEO%E ) Y- ANO—IIT R
FTEIEME UTIREET, £ FEICET D
FDOICULET,

ZUT. BEOFH+@=ZO LT EARYIDEES
fKE ERESEFET,

B) te—49—EODLHOLH@DFAIEOH
BOYKRDICRUOICTHRAEBLET,

B6) BRCOE@DFMUBHEHEET,

7) OOQDUBREFRNEG oIS FTLEHRUO
ZfEsD. KRIC, BEDFRHFRUO%Z 2 &R
F7,

* Remove the intermediate presser once before
adjustment.

1) Exhaust the air. (Set the regulator value to “0”.)

2) Loosen setscrew @ .

3) Loosen two fixing knob screws @ .

4) Adjust the needle thread trimmer so that it comes
in contact with the top surface of the material in
the state that top end portion @ of the thread
trimmer is stretched to the cylinder stroke end.
Then turn adjusting knob @ to move the whole
needle thread trimmer unit up and down.

5) Adjust with screw @ so that top end @ of upper
heater rod @ fits center position @ of needle @ .

6) Atthe same time, adjust the center position of ©
to that of @ .

7) When the positions of @, @ and @ are adjusted,
tighten setscrew @, then tighten two fixing knob
screws @ .




ELET,)
(Length of the remaining thread from bobbin case required at a minimum of amount to
knot the bobbin thread can be adjusted. It is purposed to reduce the bird’s nest.)

o EE | TROEBICS 3EREH R, BERY. IP—HHeE0. EBNYILEEATOMDE
/- _I§\ VRIBTIT > TLREE LY,

WARNING :

Turn OFF the power, cut the air supply, and ascertain that the sewing machine does not run even
when depressing the starting pedal before starting the work so as to prevent accidents caused by
abrupt start of the sewing machine.

4 N\ 1) ODLEHRUEEDHET,

2) @D TRIEDHUIRZQ - @F[ICHERLET,

* OLETTFROBODEUEBNAE<LEDET,
(REVT—ADSDFAREDEEDFT,)

® @HSEAIT FHROBOHUENDMEL DT,
(REVT—=ADODEFEAREDDELEDET.)

3) BENMED O ISQ@DIEDR UZMOHFT .

Al

ARULTLEZL,

@ O DIEHRU & OO THEDENIELRIC
BN EIMRENELEDET,

1) Loosen setscrews @ .
2) Adjust bobbin thread feeding plate @ to direction
Y ‘ ) Qor0.
® Bobbin thread feeding amount increases in
direction @ .
(Amount of the remaining thread from bobbin case
increases.)
® Bobbin thread feeding amount decreases in
direction © .
(Amount of the remaining thread from bobbin case
decreases.)
3) When the adjustment has been completed, tighten
setscrews @ .

Be careful that setscrews @ do not come
in contact with lower hot-wire @. Heating
9./ speed is delayed if they come in contact

with each other.




(J:’f\m*ﬁﬁ kﬂ%af&liﬂa)ﬁh \b\ b@‘éﬁ‘ib E*’a:—.ﬁﬁ b&?‘ Emﬁﬁﬁ&ﬁﬂ’gt LET.)
(Length of the remaining thread from needle eyelet required at a minimum of amount
to knot the needle thread can be adjusted. It is purposed to reduce the bird’s nest.)

2i== TROEHICKDIBHES <R, BERY. T7—HS%)D, EEMNYILERATHEHVE
/. VWIREBTIT o> TL IEELY

WARNING :

Turn OFF the power, cut the air supply, and ascertain that the sewing machine does not run even
when depressing the starting pedal before starting the work so as to prevent accidents caused by
abrupt start of the sewing machine.

) EREOHULIUVSY—DA M/ —#@ZFTHUTFERT,

2) EPRBOHUOICKZIHRODBROEUEZHEELET. (D=31 mm TiAREOEIF 18 mmETk)

3) #HRODEOHUEZZ<TBICIE. DOBEZELZLET, TOR. @ODF v M EFHOZELNLEUF
T MELKTBHBEIEF. BCELET, DDEHINRE SISO TOZEELFT.

4) EOESITHUT, BREDHE UODER TRIBDIEH & £t FHEH@D SDERZRELET .
BiEHc. THEEERE. R EENSOBTH =12 mmZBRICEFLTLETY,
T ODEHRU 2 FZED. ODRHEZ L THEL, FRESHEZRELET.
REBICODRUZBEELET, BB, O FT7Y3YD—NLI—S5—BEFRARUTT,

5) RIC. ODEMEZETHRBEULIELICED., #HRODBOHUENEDDHXITDT. @DIEHRL
ARICTERBOLE URBEHZ L TRBULET,

¥ @QEFTHUTCRAL—XICETHTDZ LZRABUEHS L TREET> TS
ZORICS I >EHD DG EBEIE. OL@DLEHRUITTHESZEL.

1) Press down by hand stopper shaft @ of the needle thread feeder cylinder.

2) Check the feeding amount of needle thread @ by needle thread feeder @ .
(In case of D=31 mm, the remaining amount of needle thread is approximately 18 mm.)

3) Toincrease the remaining amount of needle thread, increase the distance of D. At this time, loosen nut 0 and turn
it counterclockwise. To decrease it, turn the nut clockwise. When the distance D is determined, fix @ with @ .

4) Secure the distance from the top end of needle thread feeder @ when it is in the lowest position to top surface @
of the material in accordance with the thickness of the material.
Incidentally, the height from the top surface of throat plate H is set to 12 mm as standard at the time of delivery
from the factory.
First, loosen two setscrews @), adjust installing base @ by moving it up or down, and set the optional height H.
Finally, tighten setscrews @. In addition, @ are screws used both for setting the installing base and for fixing the
optional needle cooler.

5) Next, adjust the whole needle thread feeder unit with four setscrews @ by moving it up or down since the feeding
amount of needle thread @ changes by adjusting installing base @ by moving it up or down.

* Press @ by hand and check that it smoothly moves up or down to perform the up/down adjustment. At this time,
when it does not move smoothly, adjust it with setscrews @ and @ .

7



(%ﬁDﬁkBU%ﬁ&EMiﬁﬂb@%ﬁbi@ﬁﬁ]&Oﬁﬁk$%ﬁ§$ﬁN®ab

L5t ZBRELET )

(Amount of remaining thread from the top surface of material to be sewn after thread
trimming can be adjusted. In addition, it is purposed to prevent the material to be

sewn from being fused by the hot-wire.)

:iﬁ FROEHICLIBHE<H. BERY., I7—HEEYD, BRIV ERATHED
/. VWRBTIT o T &L

WARNING :

Turn OFF the power, cut the air supply, and ascertain that the sewing machine does not run even
when depressing the starting pedal before starting the work so as to prevent accidents caused by
abrupt start of the sewing machine.

~

1) @DEIRIR TODEHREZEYIDIRC. @D

BOTTEVK SITRYID A ROICT h DERR

ZERUE,
FTF. ODLEHRU 2 KZREDFT .

2) @ZLTASA RSETHEREBhICHERELE T,
3) h DBERHNRE oI S@ZERHDHE T,

1)

2)

3)

(h=0 Brlge

TRIOARYID HA FOIE. OB BDEFZR;LE
FHIRDBDTY,

Clearance “h” is secured by thread trimmer guide
O so that material @ cannot be fused when needle
thread @ is trimmed with hot-wire plate @ .

First, loosen two setscrews @ .

Slide @ up or down to adjust “h” to the optional
clearance.

Tighten @ when clearance “h” is determined.
(h=0 is possible.)

Upper side thread trimmer guide @ is for preventing
@ itself from being deformed.




(I%-H:’.ﬁ'ﬂ%lat\ %Wﬂﬁ*ﬂlt OFF [CIF>TL\ET )

RUIDERENHIEIE. TNTHEBHAICKDERT —5 LICTITVE T,
B-1Kc(E5-208 T —F ASLFIR RONBOY—ERAT 1« RO TF—=5ZSE(C U TRYIDFIET—
FEEBMUTLES W BB, BRABRKGICH U TTRD 4 BEODSET —IDBANEINTULETY,

o — MRV MEH - FRRFLDIES
® J\¥—>No. 001
RUIDBEZET OARVART. RUDKEIID SINBAZRE UEWBEDOARTDHIEHT—4]

@ ){&¥—>/No. 002
RUIOBEZZEUELGRT. BRI TERD SNEZR®R UICWEEDARV D HIEHT—5)
% @QDARVIOHIET —F DL HBERIREFDOWMAMNRLEDFT,

[@ FHROWIEED <5, NMEREH 2.5 sec EBABNESIC LT AL, ]

ZFNLLE (3 secLIM) D\BEE. KRATHREDA4018D10POPA ZEALET .

o —fREMMDEER - hEZH D DHS
EREDHUBRENE. ROMOD P, X OFETEAROBBRIRDEAZONEN, RO ERHRE
BE. #RRIIPERELBVHZEHHDET, ZTOHEIF. TR -5 Z@ALET.

® /)t —> No. 010 (TEHEICBIT 2-VEAT—2)
Jt%—>/No. 001 DEREFIEICH LT EREDHLDYA SV IEEBULBDTT,
D : O&BIMBABE — TAHREIDHNE - %8B — REDHUNE - %R — LAYI0EIE - %58
@ : OSHAIMEAREIE — THREIOHRE - %8 — BREOH UANE — BREIOEHE - %R
— FRIBOHUKR
® ){&—> No. 020 |
Jt&—>/ No. 002 DERENFIEICH L T EREDHLDYA SV I EEBLIZED T,
@ : SEREMABIE — TREIDENE - BIR — HRBOHUARE - %8 — LREI0ENE - %58
@ | BRENEABEE — TRUDOFHE - R — FRIEDHURNE — ERUIDANE - BB
— FREOHUSE
X ANEAT AHHTF2) . B2 L EFRUDEEDY UV Y —FHRIEZRE T DARDDHDTI,
BERT—YDRVIIERRBICATIUVET,

o AHAWmF F—F—ERiEE. 1 BOARYIDICEVWCEL 2B F DTG IV RZEASULET,)
HEBAS (Ext Input) = HFNo. 2 (U F—trT—#H)
HEBHFT (Ext Output) = T No. 4 (RO H UEHE - BiR)
BB (Ext Output) = im+F No. B (ERUIDERE - &iR)
ANERH AT (Ext Output) = iﬁ”'ﬁ_yr No. 6 (£—%—&&E ON - OFF)
BB (Ext Output) = im+F No. 8 (FRUIDALE - #R)




(Thread breakage detector has been factory-set to OFF at the time of delivery.)

All thread trimming drive controls are performed with the sewing data input procedures by means of the external output.
Create the thread trimming control data referring to 5-1 or 5-2 Sewing data input procedures and the attached service
disk data. In addition, the following four kinds of reference data are inputted in accordance with the sewing conditions.

® |n case of exclusive for seat belt without intermediate presser
® Pattern No. 001

[Thread trimming control data inthe case where the thick thread which requires thread trimming time is used and
heating is desired to start from several stitches before thread trimming.]
@ Pattern No. 002

[Thread trimming control data in the case where the thread which does not require thread trimming time and
heating is desired to start immediately after the completion of sewing.]
% Thread trimming control data 2 improves more the durability of the hot-wire plate itself.

To prevent the lower hot-wire from being broken, set the total heating time to less than 2.5 sec.
In the case where the time is more (within 3 sec), use the lower hot-wire for thick thread, D4018D10POPA.

® In case of sewing of general materials with intermediate presser

There is a case where needle thread falls in the approaching direction of hot-wire plate by the influence of twist of
thread or intermediate presser after needle thread feeding drive, thread trimming place is not stabilized and siip-off of
needle thread is apt to occur. In this case, apply the control data described below.

(® Pattern No. 010 (Sewing sample data at the time of delivery from the factory)
Needle thread feeding timing in terms of the drive procedure of Pattern No. 001 is changed.
@ : Starting heating from 9th stitch before thread trimming — bobbin thread trimmer forward/backward
— needle thread feeder forward/backward — needle thread trimmer forward/backward
® : Starting heating from 9th stitch before thread trimming — bobbin thread trimmer forward/backward
— needle thread feeder forward — needle thread trimmer forward/backward — needle thread feeder backward

@ Pattern No. 020
Needle thread feeding timing in terms of the drive procedure of Pattern No. 002 is changed.
@ : Starting heating after sewing — bobbin thread trimmer forward/backward
— needle thread feeder forward/backward — needle thread trimmer forward/backward
@ : Starting heating after sewing — bobbin thread trimmer forward/backward — needle thread feeder forward
— needle thread trimmer forward/backward — needle thread feeder backward
% The external input (input terminal 2) is to check the waiting positions of the cylinders for needle/bobbin thread
trimmers for safety. This is inputted to the first and the last of the sewing data.

0 Input/output terminal (Input two times each of the following commands at one time of thread trimming.)
External input (Ext Input) = Terminal No. 2 (Cylinder sensor detection)
External output (Ext Output) = Terminal No. 4 (Needle thread feeder forward/backward)
External output (Ext Output) = Terminal No. 5 (Needle thread trimmer forward/backward)
External output (Ext Output) = Terminal No. 6 (Heater ON/OFF)
External output (Ext Output) = Terminal No. 8 (Bobbin thread trimmer forward/backward)

10



08s 61 883 G A 0es g'| B8 G ¥
oes g'| ESgREIL D + 098 t'| SR
— — Gc A= o I3 Gc
- - e 29sw Q0 | (L@ IrL ve
- - €2 EHETEE— G2 @D 2LOVig e2
- - zz PR ©0 9 LR 2z
- - 12 (@) [BEGONT G0 G LIRS L2
g — 0oc J8sW 00< @ I LOB¥T Oc
- - 61 (FI8) B GIAKT G0 G RS Bl
nd — 8l 08sW Q0L (1L @ IrrL 8l
- - L1 (F%9) BN GEYT ¥ 0) v (LIRS L1
— — al J89sW 00c (@ rrL gl
- - g1 (BU0E) (BTN HGBYT ¥ 0) & COERNS Sl
- - 1 (EF08) EEGIA%L 80) 8 LLRIZ 1
— —- el J8sw O0S (5@ IV LAY el
- - 2l (BUE) (EE GAKL 80 8 LIRS 2l
98sW 000G »rL LL 28SW Q0 | (L@ IrL Lt
BARANIN 9 LIRS oL oL
- - 6 NO&Z G ) Gl¥ 6
- - 8 GYNE (Ww g'e=d) 7% % 8
L SRARSIIIEE 6 GO Q0 9 LTINS L
— - 9 aYN&E (Ww 8'e=d) g & 9
- - g (E5 BRI G e
- - v EHETEN— 4.3 @D 2OV v
- - € w2 % 5
- - 2 . G 2
- - L LY SRt 1
CY 29
(02 NOd) 200 ON/Z—EM @ | W+ (02W9d) LOOONZA—&EM ©® | B+

wdi 00z’ | HEGER

wdJ 00c' | EIRESH x

11




098 B'| IR G AR %8s G| RS GIRK
098 8| Bl LREliq 0 +08S | (21
— — Ge HENE C Sk L% Gc
- - ve 98sW 001 (1Q yrL ve
- - ec EHENER— A9 @ CLEY RS €S
- - ce L3y Q0 9 LA cc
= - te (8% BEHENHGENT o 7 LERgRHS Le
— ~ oe 08sW 00 1L (La brL oe
- - Gl (F%) EEGOHNT G0 G LRSS 6l
- - 8l 28sW 00S cfe) P LOB¥RT 8l
- - L1 () EEGOAHNT (G0 G RS Ll
—- - 91 98suw 001t Lt yrL 9l
- - Sl (F0E) [BEENVROBHT ¥ 0) P LLRERS Gl
— - vl (E%8) [EGIH%L (80) 8 LARdRi4 vl
- - el o8sW 00S (s POY LGEHHL el
- - el (FE) [EEGIAKL (80) 8 LIS cl
o9sWw 00S yrL Lt dssw 00! (1L yrL Ll
DyRgu] 9 LTS ot ot
- - 5 NO&ElGlaw¥ (o)} e 6
- - 8 aYnz (Wwwge=d) g & 8
L SHEEINEIE 6 A% (90 9 LLRERS L
- - 9 GYNE (ww g'e=d) % & 9
- - g Es BRI G¥az S
— - 14 EHENHE—- 4D @n S LY s v
- - € BE % €
- - Z G¥EE c
- - L B S =8 L
=% (02 W9d) 020 ON/<—&M ® | W= =8 (02W9d) OLO ONZ—&) ® W=

wdi 002 | FTEEH x

wdi 002’ | SIEME x




089S 6} awy Buiwwyy peasys el 098G’ awn Buiuwiyg pesiy felo)
29s g’} swn BunesH D +08s ¥} aw; BunesH

- — G2 uibuo pug o} uiniay pug sz
- - ve 298W 004 ta Kejoq ve
— — €2 »oeyo uonisod Buniem Josusg D 2 indui jeusa)xg €z
- - ce Buneay jo puz (90) g Indino [eussx3 22
- — 12 (premyoBq) 9ALP JaWILLY PRSI} 8paSN (s0) G Indino jewssix3g 12
- - 0 285W 00§ (S @) Aelep Bunuwiy peaiy) s|pssN 02

- — 6l (premiog) aAUp JaLLIL) PeaIy) 9|paeN Am,ov G Indino jeussix3 61

- — 8l 29sw 00} (ta Aejoq 8l

— — Ll (piem3oeq) aAUp 1opas) pesiu} s|pasN (¥ 0) ¥ Indino [eusexy A

- — 9l 28sW 002 a Kejeg 9l

— — Sl (premio}) aAup Jopoas) peaiy; s|pasN ¥ 0) ¥ Indino jeuseixg St

— —- 14} (premioeq) 9AUp Jewiwy) pesiy} uigqog (80) - 8 Jndino [euisixg vl
— i €l o8sW 00§ (s @) Aejep Suiwwyy pesiyt uigqog £l

— - g (pJemio;) sAUp JawiwIL} peaIL) UuIqqog (8 0) g indino jeuseixg FAY
29sW 00S Aejeq L 285W 00} (ta Kejeq L
Bunesy Buels 9 indino jeuseix3 ol ol
— — 6 NO [eubis Buiwwiy peaiy ) Buiwwig pealy 6

— —- 8 Buiyoys pesy asieral Buuejug (ww g'g = d) Bumesg 8

YA Buiwwi} pesiy) 810jeq yoms Uie woly bunesy buiuels (00 9 Indino jeuseixgy L

— — 9 Buiyoms pasy esiansl Buuejug (ww g'g = d) Buimesg 9

— — S uonisod uejs Bumas 0} Buinopy pas} dwnp S

— — 14 yoeyo uotiisod Buniem Josusg (tA] 2 indus jeussyxg ¥

- — € uibuo pug €

. R 2z pes} dwnp Z

— — 1 uibuo [eolueyoapy uibuo L

syewsay sylewsy
(0zWDd) 200 "ON uiened ) | npadosd (02WOd) 100 "ON ulaned (D ainpsooid

wdi 0oz‘} : paads Buimos x

wdi 0pz‘} : paads Bumag 3x

13



awi Buiuwuy peaiy) eloL

288 6L awn Buiwuy peaiy) [eloL 29S8 G}
%98 8L awn BugesH D +90S P} awn BuneeH

— - for4 uibuo pug 0} unjey pug sz

— - ve s9sw 00} ta Aejeq ve

— - €2 »o8y0 uoiisod Bupiem Josueg @1 2 Induj [eussxg €2
— — 4 Buneay jo pug (90) 9 Indno jeuseix3 22
— - (¥4 (premyoeq) aAup Jopas) pesiyl o|pseN (v O) + Indino euwsa)x3y 12

. - 0z sasw 001 (ta fejeq 02

— — 6l (premorq) SAUP JaWWIL) pesly} 8|pesN (s Q) G indino jeuss)xy 61

- - 8l 298W 005 (sa Kejeq. 8l

— — Ll (premio}) aALp Jauiwl) pesluy}l 8|pesN (5 @) Aeiep Buiwwiuy pesiy ejpeeN A

- - 9l 29sW 001 (+ta Kejeq 9l

— - Sl {pIemioy) aALp 19pas) pealyl a|peeN v 0) $ Indino [eusax3 St

— — i (pJemoeq) aAUp Jawwl) peaiy) uiqqog (8 0) g indino [euseixy T

- - €l J9sW 005 (s @) Aejep Buswwiy pesiyy ulqqog el

— — zl (premioy) aAup JouwwL) pealy) uigqog (8 O) g Indino [eusa)xy Al
29SW 00 Kejeg Ht 288W 004 a Aejeq b
Bupesy Bupers 9 Indno feuseix3 Ot ot
— — 6 NO reubis Buwwiy peaiy | D) Buiwiwy peay) 6

— - 8 Buiyoms pes) esienss buuejug (ww g'g = d) Buimes 8

L Buily PeeIyl 2108q YIS Y6 wol Buesy Bunels | (9 0) 9 Indino [eulex3 L

R - 9 Buyows pesy asieaes BuLisiug (ww g'g = d) Bumag 9

— — S uoisod pels Buimaes o} Buinopy pes} dwnp S

— — 14 %o8yo uoiyisod Bupiem Josueg D 2 Indui jewseyx3 ¥

— — € wbuo pug e

— — 2 pesy dwnp A

— - 1 uibuo [eoueyos N uibuo 1

sylewsy syewsy
(0zWHd) 020 "ON uisned @ aunpadold (02Wod) 010 "ON ulened ©® ainpsdold

wdi 00zZ‘} : peads Buimag x

wdi 00z‘L : paeds Buimesg




E—hhyy—ZEE LA TR 2L &Y UVY— @IE*E@(%’FF‘E&E%E@&??’%)% A b
LY —H 2 ERREBINTVET,

& IS—1RAEN
REUDOBMELNKET LTH, EYUVI-DHERUBICRSBTVEP. BREAREC, YUY 5F—
DIERFEABICTEVEHIEEEMHM URIC IS —hEEL, SV VOREBZELESIEET,

¢ IS—FEREZORUSE
O FYUVY—HERER. A5 > DFRUE ?I"?}%D?%ﬂfo%\c_c‘:b‘%iBﬂ?fﬁ'o
I7—DO#HEZE—EIEL. FEDICTHEOERZ LTSS
@ VU —THNTVD Y —DRBHRTN TS T EHNER EméE@“o
(SHERTBIREE T, VU VY — Y —DiRES > 7 (LED) BRfTU TV HhEDEREERL EEL,
SYUTHEOULTVSEE. t—BERUEEDKRES VT (LED) R T DUEBICIEDF
THREBUBEBREULTLLEEL,

% VU —tUU—DNUEREZT>TCTHS Y IR UVEVES(E. B2 —0— ROMRE(S.
LU —BEOHEREZSNET. BEFODE - EFEMICTHEBISIESL,

This sewing machine is mounted with the heat cutter and two cylinder sensors are set for safety in order to
check the normal waiting positions of the respective cylinders.

& Purpose of error detection
An error occurs when respective cylmders do not return to the waiting positions in spite of finish of thread
trimming action or when the control unit has judged that respective cylinders are not in the normal waiting
positions at the time of turning on the power or the like and the sewing machine is stopped to run.]

& Cause of error and the corrective measure

M It is considered that respective cylinders are caught on something and cannot return to the waiting
positions when they are in operation. Temporarily stop the air supply, and make sure of the motion of the
cylinders by manual feeding.

@ It is considered that the position of sensor attached to the cylinder is shifted. Make sure whether or not
the red lamp (LED) of the cylinder sensor lights up when the cylinder is in the waiting position.
When the lamp goes out, loosen the sensor fixing screw and adjust the red lamp (LED) to the position
where it lights up. Then fix the screw again.

% When the lamp does not light up after the position of the cylinder sensor has been adjusted, disconnection
of the sensor cord or trouble of the sensor itself is considered.
Consult our nearby branch or business office.

15



& BFEYVVI—-RBENETIH. RHELTNGEL '
(MFAPT DARDNBRHOEPEIEDTEONIBE . TORRICBVTRIID BB TEZBAL)
@ ETFROBE. L2 —XHWINTWND, = £ -3, (I LS5TEa21—X1A)
@ ETFRUIDEREBEOE—5—1— D RQUREH TERMARZIEI LTS, =» RQUHHHER.
® TROBEG. YUVI-AT—FOHMMDICLEDO YU VI -FERICEFE/HND., TV R
O—2J X TFARDEZEL TLEL,
= T7—{fHaZEM U, > U I —FERO5 | @b DTN L 2R T 2. 8D S HIBA.
VUV —AT—DRBIE,

HRUIDRBZICKRD . BRIRNEIIBEEHBHOFT,
ZO. TREROZEIFEOS >HH D OBREBEDEFTOTTERLZEL,

@ _LETERAIRODAERT. = (B KR,

X i, FRENDETETCTHREDHUDNERULICKWEEND DX T, TDHEEFE. BIERDDR
H7ZEAICE L TEIEZ EFTLIES V. (THhaERE. fiaZEOR 1/2 (CEE)

& BEYUVY-RBEMET DD, ROPEFHICEIND
® INEABENEL. = MAREOLER. ok, ETFRUDT 4 A5 A LDER. TRE 5-1
® EARUIDMERAENE > TULIEL, = (1B UEHER.

BhBbET . ZOR. AUDAUBBHFNTR)DFRELDETDT. BLAR (BHEHEVTE

@ ENT—F—PEMICKD. RE)DERDERED H U, REVED 1 o S5kRIITLES
b)) PEVEVEAND B LEOLBZBRLLET .

@ TEERREBRZITDTE[HEEITECV1D. = TRIUID RERADIERHE,
(TEAE. ROEED 1/2 LITHIEE)

IRZ(FHBIFTTER LTV D, = OERE B TERIRE DRMUBEE,

@ TERRICAHRSTFDFE > TLD, = R < TDERE.

¢ HERDEEVBDITIRIITULE S,
FHARBADSRDANTUD ., » RZET
@ SREDEDILEL. = FREODHULY U VYDA MO—-I8%Z%<T D,
@ SHOATITHUTRIHTED, HADSRDRITZV. = RBELFASDEHZERT Do

- &t - A4 ROERH XENIZ, RS
A #0~1 #2~5 #8~20
& FIVAHY) X #26 - 25 #25 - 24 #23 - 22
(axXvy) Nm 230 - 200 Nm 200 - 180 Nm 160 - 140
#HIHA R % 945 p450r ¢35 ¢ 35
Bt AA 3 x 4.4 mm

16



& TROEEIHELEL,
® REVT—ADEDRZDENEL. » TREODHUEZZ T D,
THROEFIDET ED. W REVT—AERRITH UTERADRA TH SR —EDRAICT TR
HEIEHBEV. REVT—ADEREZTFD.

& FBULBTFHEL.
® E£MHARIDVTERY, £HORTHREICHTL . T,
= HIVHA ROTEDBHDOKRSICHUTKETED, #HIVHA ROTRZENEL T,
BRURE. » E9/ZVIEGDES.
w SHOINTHUARDETET, BIL—THEEL TS,
X OFEIR, & #25 (Nm 200) BADO+EHX (B1817210DAE) [T
5. 154 =D4008D10NAH
@ ARDEEESEL, = RAFIMTORIDRR. 773 VDEIRBFZHATD.
RUNFELE, = $HBAICEDRUN. FT77aVDZ—RILI—S—%FERT .
m SRS DICRDBVARTIN, 8B T—F—FZE U TERRBULZEIT D,
HRDEELN, w» ERFADSETED. ROZETIFD. Fleld. EIRATZEHAT D,
w» T VmZEHERT .
@ BARHIVEL. RDKEND.
= DS EBUVRBHICEDADRORD BFRE. MDD DBUVRZEEHET .
= FROBHETSD. Fleld. EIRBFEFERAUTRICHDDERZDBIED.
w R A NO—20ZINEL<T D,

17



€ Thread is not trimmed at all although the respective cylinders operate.

(When thread breakage detection or temporary stop during heating is performed, thread trimming

heating in the sewing cannot be performed.)

@ In case of needle and bobbin threads, the fuse has blown. = Replace the fuse. (Time-lag fuse 1A)

@ Contact trouble of heater cords of the needle and bobbin thread trimmers has occurred due to loose screw.
= Make sure of tightening the screw.

® In case of bobbin thread, a load is applied to the cylinder when it goes and back by the bend of cylinder
stay or the like, and the lower hot-wire does not reach to the end stroke.
= Stop the air supply and check that the cylinder is not caught with anything when it goes and back.

When there is a load, correct the cylinder stay.

{ There is a case where the insulating plate is fused by excess of thread trimming time.
e 5 At this time, this phenomenon becomes a main cause that the lower hot-wire plate is caught when
it goes and back. So, be careful.

@ Breakage of upper/lower hot wire plates = Replace the broken plate with a plate supplied with the
machine.

% In addition, there is a case where bobbin thread feeding is hard to function since bobbin thread tension is
excessive. In this case, turn the knob of air regulating valve clockwise to increase the air pressure.
(Air pressure has been decreased to approximately 1/2 of the supplying air pressure at the time of delivery
from the factory.)

€ Respective cylinders operate. However, thread is not sufficiently trimmed.
® Heating time is short. % Lengthen the heating time. Or, lengthten needle/bobbin thread delay time.
Iltem 5-1
® Needle thread trimming position is not properly adjusted. = Recheck the positioning.

There is a case where one stitch at the last sewing section slips from the material when needle
thread is fed immediately before thread trimming in accordance with the sewing data or materials.
At this time, take the corrective measure such as sewing direction (ending in the right-hand
direction sewing) or entering the reverse feed stitching since thread trimming position is shifted
resulting in thread trimming failure.

@ Clearance between lower hot-wire plate and hot-wire support is excessively wide.
= Adjust the position of the whole bobbin thread trimmer.
(It is ideal that the clearance is less than 1/2 of the diameter of thread.)
Hot-wire support is fused and deformed. = Turn the support to change the contact position with the
hot-wire plate.
(® Waste thread collects on the lower hot-wire plate. = Remove the waste thread.

€ Needle thread slips off at the start of sewing.
Thread comes off from the needle thread presser. s Pass the thread.
D Amount of the remaining thread is smalll. = Increase the stroke amount of needle thread feeder cylinder.
@@ Thread is too thin for the thickness of needle. Thread is apt to slip off from needle eyelet.
=) Select a needle of optimum thickness.

18



Application example of thread, needle and needle hole guide -
* marks mean the parts provided as standard.

Thread #0to 1 #2105 #810 20
Needle (ORGAN) * #26 and 25 #25 and 24 #23 and 22
(SCHMETZ) Nm 230 and 200 Nm 200 and 180 Nm 160 and 140
Needle hole guide * ¢ 4.5 ¢ 450r ¢ 3.5 ¢ 3.5
Oval needle hole guide 3x4.4mm

€ Bobbin thread cannot be knotted.
@ Amount of remaining thread from bobbin case is short. = Increase bobbin thread feeding amount.
Bobbin thread tension is excessively high. = Bobbin thread cannot be drawn out at a fixed tension since
the tension in terms of bobbin case specification is a limit.
Decrease the spring pressure of bobbin case.

& Sewing is not properly performed.
@® Material flops and stitch skipping occurs. The inside part of material comes out on the surface. Change
of color
= Hole diameter of the needle hole guide is too large for the thickness of needle.
Decrease the hole diameter of the needie hole guide.
Stitch skipping occurs. = Adjust the hook timing.
= Thread is too thin for the needie eyelet and loop on the back occurs.
Select shuttle race ring asm. E (B1817210DAE) for needle #25 (Nm200).
Standard = D4008D10NAH
(2 Thread is not tightened well. = Tension with tension disk is a limit.
Use the optional thread tension No. 3 together.
Thread breakage occurs. = Thread breakage by needle heat Use the optional needle cooler.
= Sewing thread is broken by needle sticking.
Change the needle entry data to avoid double stitching.
Hangnail of thread = Needle thread tension is excessively high. Decrease the tension.
Or, use thread tension No. 3 together.
= Use silicone oil.
@ Single yarn floats. Thread wobbles.
= Return of twisting occurs by hardness of material and high thread tension.
Use a thread of which the twist is strong.
=) Decrease needle thread tension.
Or, use thread tension No. 3 to disperse the friction applied to thread.
=) Decrease the intermediate presser stroke.

19



_ "WSV QHOD AlddNS HIMOd HILVIH [
I —_— B e
“1dNOD _ (VHVYNOIQL10SQ) By —C R —&—2
HIWHOISNVHL WSV AV13Y H3ALVIH "WSV a¥vog
H3LV3IH B—1M—&—3 LINDHID DaWd SWV oL WSy
Y /e —E— HVNOLA920Sa
mﬁ:éh@ﬂ%ﬂ VBB OOWd SNV Quvod LINJHID ‘wsv | !
, SNO ¥ NO HIMOd SWV HIWHOSSNVHL
L _ B¥SE H3M0d H3IMOd SHWY
_W_ SNV BY Lo 98 SWY |
yra—— END ied |zer ger| sed
13HdO  HIV | _ _
4 3HdO HIV - - -
Ms  Hiv _D ‘WSV auvos o _
ATVA HIV SWY _ LINOHIO NIVIN SWY . _ Ms doLs
“NISY V 318V0 JATVA QION3T0S V & NIVN SNV Wv3HE HL
BV C—LHRE | Hid'9HO A
dvdoLatL00sa ‘OHO X
‘ "UBS/MS SV
‘O WHL T oirTord 18d 18r
OVN NI v adi ]l o 8ir
6LF 6.d | |
‘OW 1NO
QIONTTOS SWY _ !
8id
“I¥A 431002 37a33N [
HRB—<—C1—= A
[NOLLdO] L |
“IVA € "ON NOISN3L AV3HHL [ [ ] "WSV HOSNIS HIANITAD
: #mmwrnm.w e% A QHOD AV13H HOSNIS | Basasrlin
NOLLO T _ S —C#hasa poodoo o TYNMANOH
= I dvdoLayeosa i I
“IVA HIWWILL QY3YHL NISEOS I ! !
HWBGIAWL i ues |
T ‘dH “TA9 WoLL08
= _ XO8 TOHINOD SWY i o8 1
. [ ] L I I
VA ONIO334 QVIHHL I LG4 NER SNY f ‘ueg "dH A9 dot | |
HRBVTGERF | N
" pa END b e
w I L - _ _ _ _ _
“IVA HIWWIHL QVIHHL 31033N .
HRBGOHT
L

( WvdOVIaM0018 /Bl <OL ")

20



Joenbay of

. (@-ww oovt) \
(g310v00901d) 9 @ agni a1y : (- - - =) auj| usyoug g € "ON NOISN3L QVIHHLOL/FEE¥EE ,_
(g3152001019) ¥ & oqny 4ty : (———) auy IIn4 °1 @/ !
P i !
(@310009018) 9P L—T£—LT £ (- - - -) @@ S _/§_ m
(g3152001019) ¥ PL—T£—LT ‘£ (—) #2E"L O ! ® !
@ )

(o] o]

\ ©- (ww oo11)
®- (ww ogLl) A i}
JapujjA) Bujwwing pesay) uiqqog e ,
—&raGHE¥%L ST T T edig mojgay
g-0¢-0182rad X LIM—-0L—LT _ R\
| ]
m (wuwgzt) _ (1)
L 14}

JapunjAp Suiwwp pealy) a|pssN X _
—&rNAGIBHT ! _@ |mu

g-sv-0192rad

O

e 3SE091E06WS | vh | i (wwoopy) %
(1) I 00010S0VIAd | €1 9

1 vOSOyovoerd | 2t B~ (@ oseh)
I ovalgzozire | b \_
1 090¥2LSE0Ad | O @~ (ww o81)
(+) 1 2000050200
[ 0001050204d
£01590106rd
£05250970rd
L 00010v2100d
(1) I £062502£0rd
OVO01SP00LYd
0vVE00¥091Vd
1 0V#20£00Lvd
@-uondo (-uondo piepuers "ON LHvd ‘ON

©-rEALE O-REALK RES 22 HVNOLAZ10¥a = NSV € 'ON NOISNIL QVIHHL / B§-LBEY € & = @ -uondo
ALD /%% B 437000 31033IN/ —&— 415 —= = D-uondo

( WVHDVIA ONIdId HIV / BIgM—LT " A )

)
—
N

=)

Buipadg peayl 9jpoaN

VRGEHT %Mu
ov-02ze3-9LENZD

(@ & ®- (ww oogt)

@r (ww 0zZL)

-

N

-~

N M| OO |~ |0

21




(V.I\—=YUZ b/ PARTS LIST

1. UPPER HOT-WIRE COMPONENTS

EEGRBILR

22




REF.NO_ _ NOTE __ PARTNO. _ .. DESCRIPTION _________. SR R A ay.
1 D1015-D10-NOH  ADJUST PLATE FaveAn v 1
2 $S-2111010-TP  SCREW 11/64-40 L=9.5 W32y 11/64-40 L=9.5 2
3 121-14716 PRESSER REGULATOR SCREW LSRN VALY VA 1
4 121-14807 PRESSER REGULATOR NUT AL Faved v 2
5 D1001-D10-NOH  FIXED PLATE 17144 1
6 B2549-372-000  CLAMP SCREW A LIELN - PARYT A 1
7 B3125-155-000 DISK SPRING ¥ N % 2
8 SD-0550451-SP  HINGE SCREW C AV A 2
g WP-0531001-SC  WASHER LI B x I ¥V M5 1

10 B3418-245-000 SPRING HOLDER ¥ 7h TN 39) 1

11 SS-8110422-TP  SCREW 11/64-40 L=4 MA%Y" 11/64-40 L=4 1

12 SL-4040891-SC  SCREW M4 L=8 ¥ b A3Y% FN 2530 M4 L=8 3

13 D4001-D10-POP  SLIDE SHAFT GUIDE 34N I Ih Ah 1

14 D4002-D10-POP  HEATER SHAFT FIXED BASE t-2-% a54% 4 1

15 D4003-D10-POP  CYLINDER FITTING BASE Yy -MIIIA A 1

16 D4004-D10-POP  HOT-WIRE PROTECT COVER AEVET AN - 1

17 D4005-D10-POP  HOT-WIRE SHAFT VAY YAV 1

18 D4006-D10-POP  HOT-WIRE SRRV ) 1

19 D4007-D10-POP  HOT-WIRE PLATE b AVEE 1

20 D4008-D10-POP  HOT-WIRE GUIDE PLATE AL M ANE 2

21 D4009-D10-POP  UPPER HOT-WIRE FITTING PLATE RS VAN PR P 1

22 D4010-D10-POP  UPPER HOT-WIRE COVER YLRIEVIN - 1

23 SM-8041552-TP  SCREW M4 L=15 MRS 2

24 SM-9041050-SC  SCREW M4X0.7 L=10 YA b M4X0.7 L=10 2

25 NM-6040003-SC  NUT M4 A7V M4 4

26 Wp-0430801-SC  WASHER 4.3X9X0.8 ¥ b % 4.3X9X0.8 7

27 WS-0410002-KN  SPRING WASHER N R F R M4 5

28 SL-4030691-SC  SCREW M3X6 FaT 2%y thZ M3X0.5 L=6 4

29 SL-4041091-SC  SCREW M4 L=10 Fat 337" tAZ M4X0.7 L=10 2

30 SS-7060310-SP SCREW 3/32-56 L=3 ey 3/32-56 L=3 3

31 PA-1004510-A0  AIR CYLINDER 7VYVR 1

32 PX-5000500-A0  BRACKET AMy¥F VT W 1

33 PJ-0460525-03  HOSE ELBOW x-2 o 2

34 CM-3003000-01  SEAL IYRVFa94Y-12(16) 1

35 D5021-D10-NAH  HEATER CORD ASM. t-43-b 73 2

23



2.LOWER HOT-WIRE COMPONENTS
T HARBIR

i D4017-D10-POP LOWER THREAD FEEDER JRLNIVE Y 1
2 D4018-D10-POP LOWER HOT-WIRE pEY VA 1
3 D4019-D10-POP THREAD TRIMMER BASE 1h¥)A” =% 1
4 D2001-D10-NOH CYLINDER STAY YYUE A5~ 1
5 D2003-D10-NOH GUIDE BASE JRAMEMY 4D & 4 1 .
6 D2004-D10-NOH GUIDE BAR TYHE Y 1
7 D2005-D10-NOH COVER BTN - 1
8 D2007-D10-NOH INSULATING PLATE G ¥ YIVLAG 1
9 PA-1003024-A0 AIR CYLINDER 7-yyva 1
10 PJ-0320525-03 HOSE NIPPLE ®A=Y7° N 1
11 PX-5000500-A0 BRACKET yF MY A0 1
12 PJ-3040405-04 ELBOW UNION b i oy, 0% 1
13 §5-4110615-SP SCREW 11/64-40 L=6 Far 337 11/64-40 L=6 2
14 §5-4060310-SP SCREW 3/32-56 L=2.5 Fa" 3y 3/32-56 L=2.5 2
15 SM-4040501-SN SCREW M4X0.7 L=5 Fataxy” M4X0.7 L=5 1
16 SM-8030302-TP SCREW M3X0.5 L=3 Mi%3y" M3X0.5 L=3 2
17 SM-0040601-SC SCREW M4X0.7 L=6 b7A2%y" M4X0.7 L=6 2
18 SM-4031851-SR SCREW Fataxyt M3 L=18 2
19 SM-1030801-SC SCREW M3 L=8 ¥73%y* M3X0.5 L=8 2
20 NM-6030001-SC NUT M3 yhs+yh M3X0.5 1y2 2
21 WP-0430800-SC WASHER M4 I b 3 b AL M4 3
22 WP-0320500-SC WASHER M3 L7 % 2 Al M3 4
23 WS-0310002-KN SPRING WASHER M3 N3¥ A% 3.1X5.9X0.7 4
24 CM-3003000-01 SEAL YAV Fau4y-12(16) 1
25 #01 D4018-D10-POP-A  LOWER HOT-WIRE TMBIVTERIY 1

NOTE (&)

#01....OPTIONAL PARTS

170 yavik &

24



3.NEEDLE THREAD FEEDER COMPONENTS
ERERY H UBAGR

1 D4011-D10-POP  CONNECTING ARM Vyrygs 2
2 D4012-D10-POP  V FORM CONNECTING ARM Vi abvryys 1
3 D4013-D10-POP  CYLINDER CONNECTING ARM IIVE -V 1
4 D4014-D10-POP  UPPER THREAD EXORCIZE YILPN 54 1
5 D4015-D10-POP  CYLINDER STAY IV -7~ 1
6 D4016-D10-POP  FITTING BASE YIAMN FANIVIR A 1
7 SS-9111010-SP SCREW 11/64-40 L=9.5 uyhrE Wb 11/64-40 L=9.5 2
8 WP-0450801-SD  WASHER 4,5X10X0.8 L% b % 4.5X10X0.8 2
9 WP-0531001-SC  WASHER LI R I %I M5 2
10 WS-0510002-KN  SPRING WASHER NEF A% 5.1X9.2X1.3 1
11 SD-0640271-TP  HINGE SCREW L2 6
12 PA-1604003-A0  AIR CYLINDER N ENIVE Y 1
13 PJ-0320525-03  HOSE NIPPLE A=Y N 2
14 S5-4111015-SP SCREW 11/64-40 L=10 PN 33 11/64-40 L=10 4

25



4.SOLENOID VALVE & OTHER COMPONENTS (1)
B - TOMBAR (1)

REF. NO__NOTE___ PARTNO. _______._. DESCRIPTION _________. LA ay
1 PV-0351240-B0  SOLENOID VALVE ASM. 7YYty (U3) 1
2 PJ-3010651-03  HALF UNION 6XPT1/8 N-71Z%Y 1
3 PF-0705010-00  PRESSURE DECREASING VALVE I=f27 JTUTINY 2
4 PJ-0320525-03  HOSE NIPPLE KIA=Y7 N 4
5 SK-3312500-SE  WOOD SCREW D=3.1 L=25 IhE7%y" D=3.1 L=25 2
6 WP-0320500-SC  WASHER M3 RS 2
7 BT-0400251-EB  URETHANE HOSE, BLACK ZY2 S 7.6
8 BT-0600401-EB  TUBE F1-7° 0.8
9 MAT-81163T00  CORD HOLDER -y 1

10 B1145-210-000  INSTALLING BASE NAMET PIYFE 4 1

11 101-29104 THREAD PRESSER PLATE MAMY LM% 1

12 B1132-521-000  THREAD PRESSER PLATE SPRING NAY AFTME N % 1

13 $S-7090910-SP  SCREW 9/64-40 L= 8.5 I3y 9/64-40 L=8.5 1

14 SD-0380551-SL  HINGE SCREW D= 3.80 H= 5.5 4 v%y D=3.8 H=5.5 1

26



5.SOLENOID VALVE & OTHER COMPONENTS (2)
EAR - TOMBAR (2)

12-13-14—¢ 33

b

17—, ]

REF, NO_  NOTE _ _ PART NO. _ 1 DESCRIPTION . __._ bV x4 Qty
1 D4005-D10-NOH  NEEDLE PLATE SUPPORT COVER(AL) ALIONIALEY ahn’ — 1
2 D4006-D10-NOH  COVER SHEET IV ==} ]
3 D4007-D10-NOH  CYLINDER ARM CAP ALIYHTHN - 1
4 D4008-D10-NAH . SHUTTLE RACE RING ASM. H b AYIHEY T Y 1
5 B1828-210-DAC  BOBBIN CASE ASM. ¥ vr-a03 ]
6 B1806-210-D0A  BOBBIN Uy ]
7 B1815-210-DOA  SPRING A IVIN 3 1
8 D4009-D10-NOH  SHUTTLE DRIVER (FOR #8) N SN - ]
9 MDP-170B2600  NEEDLE DPX17 #26 M) DPX17 #26 ]

10 B1601-210-DOC-A INTERMEDIATE PRESSER C FHAYIC 1

11 D4001-DI10-NOH _ NEEDLE PLATE INEL ]

12 D4002-D10-NOH  NEEDLE HOLE GUIDE D=4.5 4. 507 4 1

13 #01 D4002-D10-NOK  NEEDLE HOLE GUIDE D=3.5 3. 5N AN 1

14 #01 D4021-D10-POP  ELLIPSE NEEDLE HOLE GUIDE 2 IYNITHR AN 1

15 D4004-D10-NOH  HOT-WIRE SUPPORT 2vevyr 1

16 SS-2060320-SP  SCREW 3/32-56 L= 3.2 I¥5%y" 3/32-56 L=3.2 3

17 D4003-D10-NOH  INSULATING PLATE F ¥ YIV{AF 1

18 HX-0015000-0M  CABLE CLIP B-7 N 2997 3

19 $S-4110915-SP  SCREW 11/64-40 L=9 FA° 3V 11/64-40 L=9 3

20 #01 MDP-170B2500  NEEDLE DPX17 #25 M) DPX17 #25 1

71 #01 BIS17-210-DAE W SAFIESIT 1

NOTE (7£&2)

SHUTTLE RACE RING ASM. ,E

#01....OPTIONAL PARTS

(N

b WANEVE ($7)

27



6. ELECTRICAL EQUIPMENT COMPONENTS

1 SL-4031481-SC  SCREW M3 X 14 FAT23Y tAZ M3X0.5 L=14 2
2 HX-0033900-00  STUD ¥nun -y 4
3 NM-6030001-SC  NUT M3 oyhsFyh M3X0.5 12 2
4 WS-0310002-KN-  SPRING WASHER M3 NEP bt 3.1X5.9X0.7 2
5 WP-0320500-SC ~ WASHER M3 LI A3 ah AL M3 2
6 D5001-D10-PAP  SOLENOID VALVE CABLE A ASM. UV yh-T7 AR 1
7 D5004-D10-PAP  SENSOR RELAY CORD Yvfayy{a-p 1
8 D5011-D10-NAH  CYLINDER SENSOR ASM. IIVE LRI 1
9 SK-3451601-SC ~ WOOD SCREW NATZYA 4
10 D5017-D10-NAH-A HEATER POWER SUPPLY CORD ASM. b-35" vy va-h I3 1
11 HF-0014001-00 FUSE ta-%* 2
12 D5026-D10-NAH  HEATER RELAY ASM. t-4-9V-73 1
13 D5025-D10-NOH  HEATER RELAY INSTALLING PLATE -2V -pIIr1% 1
14 D5020-D10-NAH  HEATER TRANSFORMER COMPL. L-2hFVAVYIR 1
15 G5604-341-000  TRANSFORMER COVER MIVAAN - 1
16 D5021-D10-NAH  HEATER CORD ASM. b-23-b 73 4
17 D5022-D10-NAH  HEATER TRANSFORMER ASM. L-2h7vAI3 1
18 SCREW M4 L=8 0 R% FA 257 M4 L=8. 4

SL-4040891-SC

28



®
d u K. To order or for further information, please contact :

JUKI #&tt

T 182-8655 HFUBHEMHERED 8-2-1
TEL. 03-3480-1111 (%)

=E Z N

TEL. 03-3430-4001 (1 ¥)LA )

JUKI CORPORATION

INTERNATIONAL SALES DIVISION
8-2-1, KOKURYO-CHO,
CHOFU-SHI, TOKYO 182-8655, JAPAN

PGBt 4974« 9954 T DBBOREIC DV TRIIEERNG D & LTz SBROOMBFE L S S EEF CHINADE T,
TELéX - J22967 % TORRIRESE / 1\—Y U X MIHRSBOIHFELLEETIE/DHBO T

Copyright © 2000 JUKI CORPORATION. Please do not hesitate to contact our distributors or agents in your area for further information when necessary.
ABONSEEN TSR, BS T ns ¥ The description covered in this instruction manual / Parts list is subject to change for improvement of the
FLET * - commodity without notice.

All rights reserved throughout the world. 00 - 10 Printed in Japan (E)




